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N—T% N—TEt

BRG] K & |#5FE|f#or|EEE|GROSS|HDCP | NET [IEGZ| K %& | #5E|t#we| %5 EE |GROSS| HDCP [ NET
1 [FEE FB2 43 [ 50 | 93 | 22.8| 70.2| 51 |fnE EE 50 | 43 93 [ 16.8| 76.2
2 |WE 1EA 47 | 42 89 | 18.0| 71.0] 52 |fFH = 44 55 | 99 [ 22.8] 76.2
3 |EHE i 39 | 43 82 10.8| 71.2] 53 |#AE {EZER | 50 | 49 99 | 22.8| 76.2
4 | K% # 44 43 | 87 | 15.6| 71.4] 54 [/l FoEE 52 53 | 105 | 28.8]| 76.2
5 | IEE 41 | 39 80 | 8.4 71.6| 55 |FFMA 1EH 52 | 53 [ 105 | 28.8| 76.2
6 [ZZH KMKF | 46 46 | 92 | 20.4| 71.6| 56 |&)I I 49 | 56 | 105 | 28.8| 76.2
1 |%k# &R 44 41| 85| 13.2| 71.8) 57 |FEH EL 46 52 | 98 [ 21.6]| 76.4
8 |iME B 43 48 | 91 [19.2| 71.8]| 58 |F1®Z #ti— 52 58 | 110 | 33.6]| 76.4
9 [mKX &— 42 | #1 83 10.8| 72.2|| 59 |@wF & 58 | 52 | 110 | 33.6| 76.4
10 |f8H =%\ 48 | 41 89 | 16.8] 72.2]| 60 |EEER % 46 51 | 97 [20.4] 76.6
1 |me ®#g= 42 | 47 89 | 16.8| 72.2|| 61 |#k/Aa IEA 47 62 | 109 | 32.4| 76.6
12 5@ F58 39 | 43 82| 9.6| 72.4| 62 |H+x B 58 57 | 115 [ 38.4]| 76.6
13 |KE %A% 52 47 | 99 | 26.4| 72.6|| 63 |AER ®EHETF 49 | 53 [ 102 | 25.2| 76.8
14 |%ER B— 44 | 41| 85| 12.0| 73.0| 64 |HLt IERE 54 | 47 101 | 24.0( 77.0
15 |7 =& 48 43 | 91 [18.0] 73.0|l 65 |5t =E— 49 | 52 [ 101 | 24.0( 77.0
16 |bEE 1§73 52 | 45 97 [ 24.0| 73.0|| 66 (=4t sk 53 | 54 | 107 | 30.0| 77.0
17 | ¥ &K 43 | 46 89 | 15.6| 73. 4| 67 |BH &E 50 50 | 100 | 22.8]| 77.2
18 |JEH ZEER 44 | 45 | 89 | 15.6| 73.4| 68 |¥tE #& 52 | 48 100 | 22.8| 77.2
19 |#HE =M 49 46 | 95 | 21.6| 73.4]| 69 [EEH B— 52 | 48 100 | 22.8| 77.2
20 [/h)1] —=% | 48 52 | 100 | 26. 4| 73.6] 70 [h4t =i 53 53 | 106 | 28.8] 77.2
21 (&)1l BhER 47 46 | 93 [ 19.2( 73.8]| 71 (LB & 53 | 53 106 | 28.8| 77.2
22 | KR BEE 55 | 50 105 | 31.2| 73.8| 72 |&4t Z=mER | 53 | 52 105 | 27.6| 77.4
23 Ik 50 | 48 98 | 24.0| 74.0| 73 | &y 56 | 55 | 111 | 33.6| 77.4
24 |5FH F— 42 | 43| 85 (10.8| 74.2| 74 |H:E 1y 46 | 40| 86| 8.4| 77.6
25 |MR% %R 45 | 46 91 [ 16.8| 74.2|| 75 |H& &k 48 50 | 98 [ 20.4]| 77.6
26 ;AR &8 52 [ 39 [ 91 [ 16.8| 74.2]| 76 |®=E &= 52 | 52 104 | 26.4| 77.6
27 |0 #— 47 49 | 96 | 21.6| 74.4]| 77 |[aH & 54 | 56 | 110 | 32.4| 77.6
28 (luA == 54 54 | 108 | 33.6| 74.4| 78 [¥tA &HE 54 | 56 | 110 | 32.4| 77.6
29 | KA #HE 46 | 49 95 120.4| 74.6| 79 |#EmE & 50 | 59 [ 109 | 31.2| 77.8
30 [dkH EHH 52 | 61 | 113 [ 38.4[ 74.6]| 80 [T #Efk 47 1 49| 96 | 18.0| 78.0
31 el 42 46 | 88 | 13.2| 74.8] 81 [¥a& 3A 53 49 1102 | 24.0] 78.0
32 |FFH FE 51 49 [ 100 | 25.2| 74.8]| 82 |EEH B 55 | 53 | 108 | 30.0| 78.0
B | KR #BE 57 | 49 106 | 31.2| 74.8| 83 |fxua =] 54 54 | 108 | 30.0| 78.0
34 | FsE 48 | 45| 93 |18.0| 75.0| 84 |luA ==#& 58 | 56 | 114 | 36.0| 78.0
35 |ARER =/\ER | 48 | 57 105 | 30.0| 75.0| 85 |[FkE =B 47 | 42 | 89 | 10.8| 78.2
36 |[EAT BB 54 | 51 [ 105 | 30.0| 75.0|| 86 |[== {E%x 50 | 51 | 101 | 22.8| 78.2
37 (WD HE 48 | 44 | 92 | 16.8]| 75.2| 87 | EEZ 49 | 52 101 | 22.8| 78.2
38 |BEFH EIk 46 52 | 98 | 22.8| 75.2| 88 [ttK & 52 | 48 100 | 21.6| 78.4
39 [KR#F BR 50 54 | 104 | 28.8( 75.2| 89 |mH mEx 51 | 54 | 105 | 26.4| 78.6
40 [BEX =F 46 | 45 91 [ 15.6| 75. 4| 90 |FAR =:FEH |54 | 51 105 | 26.4| 78.6
M (FE A 51 | 46 97 | 21.6| 75.4| 91 |4t {5k 55 | 50 105 | 26.4| 78.6
VYL 41 [ 43| 84| 8.4| 75.6| 92 |tfE BE 55 56 | 111 [ 32.4| 78.6
3 (&8 E—H 52 | 44 | 96 | 20.4| 75.6] 93 [@iT EZFER 54 | 56 | 110 | 31.2| 78.8
44 |Ihtk BBR 54 | 54 108 | 32. 4| 75.6( 94 (=) = 48 | 49 97 [ 18.0( 79.0
45 |hig & 46 | 43 89 | 13.2] 75.8| 95 |FEHE FE*k 52 | 57 109 | 30.0( 79.0
46 |BERE FE 51 | 50 [ 101 | 25.2| 75.8] 96 |MA BEx 51 | 51 | 102 | 22.8| 79.2
47 |fiF  BA 49 | 52 101 | 25.2| 75.8( 97 |FEH#H # 53 | 49 102 | 22.8( 79.2
48 (AR E-— 55 52 [ 107 | 31.2| 75.8]| 98 |® % 55 47 1102 | 22.8] 79.2
49 (i B 53 | 60 113 | 37.2| 75.8( 99 @) E# 46 56 | 102 | 22.8]| 79.2
50 [#ef7 = 53 | 53 106 | 30.0| 76.0][100 |#alF E#HF 56 | 45 | 101 | 21.6] 79.4
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G| K £ |#5FE|f#wc|EEE|GROSS|HDCP | NET [IEHZ| K £ | #5Ee|t#we| %5E |GROSS| HDCP [ NET
101 |lLi3 R4 58 | 55 [ 113 [ 33.6( 79.4
102 | Kk BE 49 51 [ 100 | 20.4 79.6
103 B 53 53 | 106 | 26.4| 79.6
104 |FaEF =& 48 | 51 | 99 | 19.2( 79.8
105 (&0 1= 46 | 53| 99 | 19.2] 79.8
106 |P)Il  #EX 53 52 | 105 | 25.2 79.8
107 |AR =& 51 | 53 104 | 24.0| 80.0
108 |Bim FHif 47 | 56 103 | 22.8| 80.2
109 |lush IERB 55 54 [ 109 | 28.8| 80.2
110 |14 HE— 60 | 49 109 | 28.8] 80.2
1M1 |¥E# E 56 | 52 [ 108 | 27.6| 80.4
112 |#%%  F0iF 59 49 [ 108 | 27.6| 80.4
13 |sx EF 59 | 60 [ 119 | 38.4| 80.6
114 |[IMNR &— 46 60 | 106 | 25.2| 80.8
115 [/NE {E—ER 58 | 48 | 106 | 25.2| 80.8
116 |Bi5 &R 53 | 53 106 | 25.2 80.8
117 |@E Mz 62 | 56 | 118 | 37.2]| 80.8
118 |BHE & 61 60 | 121 | 40.0( 81.0
19 (8 &N 55 55 | 110 | 28.8/| 81.2
120 |Hd H#EBE 51 | 58 109 | 27.6] 81.4
121 |EB #hK 54 | 61 [ 115 | 33.6( 81.4
122 |FEF #0iE 52 | 56 | 108 | 26.4| 81.6
123 |H4 f2— 47 61 | 108 | 26.4| 81.6
[VZ LN Y N 58 | 56 | 114 | 32.4| 81.6
125 |)Il 3= 63 | 57 [ 120 | 38.4| 81.6
126 |FE1fs HeY | 47| 48 95 | 13.2]| 81.8
127 |iE& EE 55 55 | 110 | 27.6| 82.4
128 |&)II RI=E 52 | 58 [ 110 | 27.6| 82.4
129 |AR &t 58 | 64 122 | 39.6| 82.4
130 )il EFE 55 59 [ 114 | 31.2] 82.8
131 |&)Il = 62 | 56 118 | 34.8] 83.2
132 |# E&F | 54 | 57 111 | 27.6] 83.4
133 |ZE2% FHH |52 | 64 116 | 32.4| 83.6
134 |AAO ARX 65 | 57 [ 122 | 38.4| 83.6
135 |% EA 54 | 59 113 | 28.8| 84.2
136 [BA& Eh& 63 | 60 123 | 38.4| 84.6
137 |BE A 60 | 62 [ 122 | 37.2| 84.8
138 |54 & 66 55 [ 121 [ 36.0( 85.0
139 (I =& 64 | 58 | 122 | 34.8| 87.2
140 [4Hh Rz 66 | 56 122 | 33.6] 88.4
141 |BRA  Bx 59 | 60 119 | 30.0{ 89.0
142 |HE #R4E 64 | 65 [ 129 | 40.0( 89.0
143 |F&R HiE 64 | 57 [ 121 | 31.2] 89.8
144 |{BBE FIM 65 | 67 [ 132 [ 39.6| 92.4
145 |l HX 60 | 73 [ 133 | 40.0( 93.0
146 |EH T 68 | 69 137 | 40.0{ 97.0
147 |F@A EF 80 70 | 150 | 40.0(110.0
148 |8 KRiF 83 94 [ 177 | 40.0(137.0




